(RN
<

a(6 @) (rad)

(|| 13
N L T
I}
W

-1 0 1

2 3

TP n (PCA to beamline)

a(d cot(B))

1072

il | f ::?g:::::::

0 1 2 3

j@

it Ulk%llldl SLE] llUdl TaSEL-TTEW (:'UIII
I—mKFit_sTe ase]-| new [
Ie —ste) 2‘tt ar asel eom

ttbal 1-
e‘rgPE nerlrcpstespez tq

bargpﬁasel -newgeom

= .

IS

5 T

N . T .

@] OUE . L

Q I 3

o : :

B Lt 1SN 3 OO RSO
ook e HENS [ S SR SRR

AT CIE 11 3 R Y

107

2 3

..........

1072F

Ratio

0.5

4

100 1

2 3

TP n (PCA to beamline)

(0 d) (cm)

107}

[ RALRN RARR R R R

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


